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‘ote: You have four choices far each objective type question as A, B, ¢ and D. The choice which you
vink is correet, Gl that bubhble in front of that question aumber. Use murker or pen to fill the bubhbles.
‘utting or filling two or more bubbles will result in 2ero mark in that yuestion. Attemp!t as many
uestions as given in ubjective type question paper and leave others blunk. No credit will be awarded in
ase BDUBBLES are not filled. Do not solve yuestions on this sheet of OBJECTIVE PAPER.

Q.No.l
(1) A collection of raw facts and figures is called:

(A) Data (14) Information (C) Progessing {1} Computing
() Hardware s hest deseribed ast

(M) I'rogram (13} Physicul pans (C) Procedure {1 Hard copy

(3) Each computerona network is called:

(A) Link . (13) Cende {Cy Node (D) Mode
(4  Whichis communication device? oo

{A) Router {13y UsB (CHCch (D) Ethernet
(5) Frequency is measured in: )
(A} Sec (B) 1PS {C) Volts (3t o
(6) BCDis ____ bitcode.

(A) 2 {B) 3 i @ &
(7) CU stands for: \
{A) Control unit {13) Cache unit Q) C&p W (D) Com unit
=) a

@ AlUbas____ unils.

Ay ) (By 2 (I 3
(9) The secret word used for data pr@ )

(A) Biocham (B B\ (C) Password (yr.C

(10} A compuler virus is i
L (A) Disease Q’-} flwvare (€ hardware (D) Bacteria

et Based trade (B) Computer basie raining

ate based wrade (D) Computer based trnning

(12) Windows operaling system was developed by:

{A) Sun system (13) Microsofl (C) Hewlet (N JANA
(13) Shoricut key to save a file in MS-Word s

(A)Cul =5 (B) AlL+ S - (@ Cwl+F (DY AR+ F
(14) How many worksheets are ina workbook by default?

(A} 1 (B) 2 () 3 () 4
(15) Which of the following is internet protocol?

(A) TCP/IE (B 1EEE (CyMacC (D) SNA

A
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INTERMEDIATE PART-1 (11" CLASS)

OMPUTER SCIENCE PAPER-1 (NEW SCHEME)

IME ALLOWED: 2.10 Hours SUBJECTIVE MAXIMUM MARKS: 60

OTE: - Write same question number afd its part number on answer book,
as given in the question paper.
SECTION-I

LNu.2  Attempt any six parts.

) [.ist primary components of Coinputer System.
(if)  Describe relationship between Hardware and Softwarc.
(iii} ~ Wrile the use of trackball.
(iv)  List four basic units of data storage.
(v)  Whatis whe difference between 1SDN and DSL?
{vi)  Whichtwo opologies are combined 1o make a tree topelogy”
(viiy Whatis the use ol Network lnterface Card?
(viii) Define Email attachment.
(ix)  Write the role af ISP,

().No.3  Attempt any Six parts.
(i) Define Encoder.
(i) Howdawais represented in Memaory?
(iii)  What is Broadband?

6x2=12

(iv)  Write dny two henefits of video conferencing. o.
(v}  What is elecronic banking? @

{vi)  List two advantages of ward processor over Lypewriter. &

.
(viii) Define Worksheet. \l=
(ix)  Differcntiate hetween Active cell and Passim

(vil) What is meant by editing a MS-Word document?

Q.Ne.d  Attempt any six parts.
(i) What is Bus Interconnection?
(w Deline General Purpose [t
(i1i)
(iv)
v)
(vi)
{vit)

{viil)

(ix)  What is the role of Windows Explorer?

SECTION-11
NOTE: - Attempt any three questions.

5 Differentiate hetween impact and nen-impact printers.

6:&2:12

I1x8=24

Explain the working af Ring topology with diagram. Also discuss its advantages and disadvaniages.

Define Signal. Explain the types of signal in data communication

6

7

% What is bus interconnections?  Write the functions of control bus, data bus and address bus.
9

Whal is backup of data and its purpose? Also discuss different types of backup
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